National & Mathematics

REL 1-5b

Outcome 2 - Trig identities

Silver example
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Examples...
2
sin® x
Show that sinxtanx =
cosx
LHS = sinxtanx ~ **Replace tanx
ith SIX xx
sinx Ith seles
= sinx x
cosx
sinxsinx
~ cosx
Since LHS = RHS
sin? x
"~ cosx ) sin? x
sinxtanx =
= RHS coOsXx
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Silver Questions

Prove the following trig identities...

=

Show that tanxcosx = sinx

& Show that cos® x tanx = sinx cos? x

1 sinx +1
-9 Show that tanx + oS = cosx
sinx
F-3 Show that —— = cosx
tanx

Gold Questions

Prove the following trig identities...

.

Show that cos?x + 7 =8 —sin?x

Show that 9 —sin?x = 8 + cos? x

& 4

s Show that cosx sin? x = cosx — cos® x
2
cos° x 1
& Show that — — —— = —sinx
sinx sinx

Working with trigonometric equations and identities
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Gold example
" ~)
Examples...
** Replace cos?x
Show that with (1 — sin® x) **

sinx cos? x + sin® x = sinx
LHS = sinx cos?® x + sin® x
= sinx (1 — sin® x) + sin® x
= sinx —sin® x +sin® x

= sinx = RHS

Since LHS = RHS

sinx cos? x + sin® x = sinx
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sinx
cosx

tanx

2

sinfx+cos®x=1

and can be re-written as...

& 4

sinfx=1-cos’x
cos:x=1-sin®x
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Silver Answers
sinx Sinxcosx .
¥ COsY = = sinx
COSX COSX

siny  cos xsinx

cosiy ® = = sinxcos‘xy
COsX COSX
Stk 1 - sinx + 1 sinx Sinxcosxy
COSX COSX COsx Sinx . sinx
CO8X

Gold Answers

=1-sinx+7=8-sin"x

=9—(1—cos’x)=9—1+cos’x =8 + cos’x

= cosx(1 — cos?x) = cosx — cos®x

1—sin®x 1 —sinx )
= : -—— = = —sinx
Finx sinx SFinx

Working with trigonometric equations and identities
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